
351

THROTTLE VALVES

 ·  ·   352
  353

  356
  357

  358
NCU  ·    ·   359

 ·   360

 •  • 

INDEX

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

351

30RoHS

52



352

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

4

6

8

10

12

 

355

TVU

4

6

8

10

12

M5 01

01 02

01 02 03

02 03

03 04

M5

-100kPa

 · 

0 0.9MPa

0 60 C

1  

( TVU )

TVS, TVL, TVU

 
     

 

353

TVS

M5×0.8 R1/8 R1/4 R3/8 R1/2

4

6

8

10

12

M5 01

01 02

01 02 03

02 03

03 04

M5

 

354

TVL

M5×0.8 R1/8 R1/4 R3/8 R1/2

M5×0.8

R1/8

R1/4

R3/8

R1/2

 

355

TVM

NBR

O NBR

O NBR

NCU 359

TVS6-01 1,050
TVL6-01 1,050
TVU6 1,050
TVM-01 750



353

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

mm

TVS
E

H

R

P1
D

B L1
L2

B

A
A

L2 L3L1

C
L3

R

X

P2

M

    
R A

 B   L1   
 L2  L3   P1 P2 C E

  
X

 
   D   MAX MIN MAX MIN       H  g

 TVS4-M5 
4

 M5×0.8 2.9 29.7 27 26.8 24.1 6.8 23.9 
10.2

 9.8 
14.9

 10.5 8 
9.9

 9.2
 TVS4-01  R1/8 8 41.3 35.2 37.3 31.2 10.9 28.9  14.4  13 10  20
 TVS6-M5  M5×0.8 2.9 29.7 27 26.8 24.1 6.8 26  9.8  12.2 8  11
 TVS6-01 6 R1/8 8 41.3 35.2 37.3 31.2 10.9 31 12.6 14.4 17 14.2 10 11.8 20
 TVS6-02  R1/4 11.1 48.7 41.9 42.7 35.9 12 32.1  18.4  17.2 14  39
 TVS8-01  R1/8 8 41.3 35.2 37.3 31.2 10.9 32.4  14.4  15.2 10  23
 TVS8-02 8 R1/4 11.1 48.7 41.9 42.7 35.9 12 33.6 14.6 18.4 18.1 18.2 14 13.8 42
 TVS8-03  R3/8 13.2 55 47.1 48.6 40.7 15.4 37.8  22  19.2 19  73
 TVS10-02 

10
 R1/4 11.1 48.7 41.9 42.7 35.9 12 35.9 

17.8
 18.4 

20.2
 19.8 14 

16.8
 45

 TVS10-03  R3/8 13.2 55 47.1 48.6 40.7 15.4 40.1  22  20.8 19  77
 TVS12-03 

12
 R3/8 13.2 55 47.1 48.6 40.7 15.4 42.8 

21.2
 22 

23.4
 22.5 19 

19.8
 81

 TVS12-04  R1/2 16 59.8 52.5 51.6 44.4 18.2 47  28  25.5 24  125
L1 L2 L3



354

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

mm

R

D

P
1

A
L2

L1B

E

CH

B
A

L1 L2

X

P2

M

    
R A

 B   L1   
 L2   P1 P2 C E

  
X

 
   D   MAX MIN MAX MIN      H  g

 TVL4-M5 
4

 M5×0.8 2.9 29.7 27 26.8 24.1 7.2 9.9 9.8 
14.9

 19.9 8 
9.9

 7.9
 TVL4-01  R1/8 8 41.3 35.2 37.3 31.2 9.7 10 14.4  21.4 10  21
 TVL6-M5  M5×0.8 2.9 29.7 27 26.8 24.1 8.4  9.8  24 8  11
 TVL6-01 6 R1/8 8 41.3 35.2 37.3 31.2 10.9 12.4 14.4 17 23.5 10 11.8 22
 TVL6-02  R1/4 11.1 48.7 41.9 42.7 35.9 12.2  18.4  25.5 14  40
 TVL8-01  R1/8 8 41.3 35.2 37.3 31.2 11.9  14.4  26.9 10  22
 TVL8-02 8 R1/4 11.1 48.7 41.9 42.7 35.9 13.2 14.4 18.4 18.1 28.4 14 13.8 40
 TVL8-03  R3/8 13.2 55 47.1 48.6 40.7 15.4  22  28.9 19  71
 TVL10-02 

10
 R1/4 11.1 48.7 41.9 42.7 35.9 14.8 

17.6
 18.4 

20.2
 30.9 14 

16.8
 44

 TVL10-03  R3/8 13.2 55 47.1 48.6 40.7 16.7  22  31.2 19  74
 TVL12-03 

12
 R3/8 13.2 55 47.1 48.6 40.7 18.4 

21
 22 

23.4
 36.9 19 

19.8
 78

 TVL12-04  R1/2 16 59.8 52.5 51.6 44.4 19.7  28  36.4 24  119
L1 L2

TVL



355

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

mm

TVU

TVM

2-
D

2-
P

F
3

F
2B
1

F1

2-C
B2 B3

E

2- d

RA

LB

P

H

B
A

L

M

    B1   
B2 B3  P E C d F1 F2 F3

 
   D MAX MIN          g

 TVU4  4 28.6 25.9 20.4 20.4 10.5 11 14.9 3.2 14 6.5 6.5 13
 TVU6  6 41.6 36.1 24.9 24.9 13 15 16.9 4.3 20 8.5 11 30
 TVU8  8 46.2 40.6 27.4 27.4 15 18 18.4 4.3 22 9.5 12 45
 TVU10 10 52.2 45.7 31.7 31.7 18 21 20.7 4.3 26 11 12 75
 TVU12 12 56 48.7 37.2 37.2 21 28 23.4 4.3 32 13 16 127

   
R A

 B   L1
   P 

 
     MAX MIN MAX MIN  H g  
 TVM-M5 M5×0.8 3 25.8 21.9 22.8 18.9 10 8 4.6 
 TVM-01 R1/8 8 35.8 29.3 31.8 25.4 14 10 14 
 TVM-02 R1/4 11 37.2 31.6 31.2 25.6 18 14 26 
 TVM-03 R3/8 12.5 42.0 35.2 35.7 28.9 22 17 47 
 TVM-04 R1/2 14.5 42.7 36.9 34.5 28.7 27 21 68 

L



356

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

20

80

40

60

140
120

100

0 1 2 3 4 5 6 7

0.7

0.5

0.3

MPa

R
/m

in
(A

N
R

)

TVS 4-M5 TVS 6-M5

400

300

200

100

0 1 2 3 4 5 6 7 8 9 10

0.7

0.5

0.3

MPa

R
/m

in
(A

N
R

)

TVS 4-01 TVS 6-01 TVS 8-01

700

600

500

400

300

200

100

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14

0.7

0.5

0.3

MPa

R
/m

in
(A

N
R

)

TVS 6-02 TVS 8-02 TVS 10-02

1200

1400

1000

200

400

800

600

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

0.7

0.5

0.3

MPa

R
/m

in
(A

N
R

)

TVS 8-03 TVS 10-03 TVS 12-03

2800

2400

2000

1600

1200

800

400

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14

0.7

0.5

0.3

MPa

R
/m

in
(A

N
R

)

TVS 12-04

0

20
40

60
80

100
120

140

1 2 3 4 5 6 7 8

0.7

0.9

0.5

0.3

0.1

0

100

200

300

400

1 2 3 4 5 6 7 8 9 10 11

0.7

0.9

0.5
0.3

0.1

MPa MPa

R
/m

in
(A

N
R

)

R
/m

in
(A

N
R

)

TVL 4-M5 TVL 6-M5 TVL 4-01 TVL 6-01 TVL 8-01

0

500

400
300
200

100

600

700

1 2 3 4 5 6 7 8 9 10 11 12 13

0.7

0.9

0.5

0.3

0.1

0

200

400
600
800

1400
1200

1000

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

0.7

0.9

0.5

0.3

0.1

MPa MPa

R
/m

in
(A

N
R

)

R
/m

in
(A

N
R

)

TVL 6-02 TVL 8-02 TVL 10-02 TVL 8-03 TVL 10-03 TVL 12-03

1 2 3 4 5 6 7 8 9 10 11 12 13 14 150

400

800

2800

1200
1600

2000

2400

0.7

0.9

0.5

0.3

0.1

MPa

R
/m

in
(A

N
R

)

TVL 12-04



357

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

0

20

40

60

80

100

1 2 3 4 5 6 7 8

0.7

0.9

0.5

0.3

0.1

0

100

200

300

400

500

1 2 3 4 5 6 7 8 9 10 1211

0.7

0.9

0.5

0.3

0.1

MPa MPa

R
/m

in
(A

N
R

)

R
/m

in
(A

N
R

)

TVU4 TVU6

0

100

200

600

300

400

500

1 2 3 4 5 6 8 9 10 117

0.7

0.9

0.5

0.3

0.1

0

200

400
600
800

1000
1200

1400

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

0.7

0.9

0.5

0.3

0.1

MPa MPa

R
/m

in
(A

N
R

)

R
/m

in
(A

N
R

)
TVU8 TVU10

0

400
800

1200
1600

2000
2400

2800

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

0.7

0.9

0.5

0.3

0.1

MPa

R
/m

in
(A

N
R

)

TVU12



358

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

0

20

30

40

1 2 3 4 5 6 7 98

0.7

0.9

0.5

0.3

0.1

0

60
40
20

80

120

100

140

1 2 3 4 5 6 7 8 9 10 1211

0.7

0.9

0.5

0.3

0.1

MPa MPa

R
/m

in
(A

N
R

)

R
/m

in
(A

N
R

)

TVM-M5 TVM-01

0

100

150

200

250

50

1 2 3 4 5 6 7 8 9 10

0.7

0.9

0.5

0.3

0.1

0

200

100

300

400

500

1 2 3 4 5 6 7 8 9 10 11 12 13

0.7

0.9

0.5

0.3

0.1

MPa MPa

R
/m

in
(A

N
R

)

R
/m

in
(A

N
R

)
TVM-02 TVM-03

1 2 3 4 5 6 7 8 9 10 11 12 13 140

100

200

300

400

500
0.7

0.9

0.5

0.3

0.1

MPa

R
/m

in
(A

N
R

)

TVM-04



359

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

NCU  · 

NCU  · 

NCU

( TVS,TVL,TVU)

352
NCU  · 

352 353
355

NCU R

NCU NCU
D      

(NCU )

( TVU )

( )

TVS

4
M5×0.8

R1/8

M5×0.8

R1/8

R1/4

R1/8

R1/4

R3/8

R1/4

R3/8

R3/8

R1/2

TVS4-M5

TVS4-01

TVS6-M5

TVS6-01

TVS6-02

TVS8-01

TVS8-02

TVS8-03

TVS10-02

TVS10-03

TVS12-03

TVS12-04

TVS4-01-NCU

TVS6-01-NCU

TVS6-02-NCU

TVS8-01-NCU

TVS8-02-NCU

TVS8-03-NCU

TVS10-02-NCU

TVS10-03-NCU

TVS12-03-NCU

TVS12-04-NCU

6

8

10

12

TVL

4
M5×0.8

R1/8

M5×0.8

R1/8

R1/4

R1/8

R1/4

R3/8

R1/4

R3/8

R3/8

R1/2

TVL4-M5

TVL4-01

TVL6-M5

TVL6-01

TVL6-02

TVL8-01

TVL8-02

TVL8-03

TVL10-02

TVL10-03

TVL12-03

TVL12-04

TVL4-01-NCU

TVL6-01-NCU

TVL6-02-NCU

TVL8-01-NCU

TVL8-02-NCU

TVL8-03-NCU

TVL10-02-NCU

TVL10-03-NCU

TVL12-03-NCU

TVL12-04-NCU

6

8

10

12

TVU

4

6

8

10

12

-

-

-

-

-

TVU4

TVU6

TVU8

TVU10

TVU12

TVM

-

-

-

-

-

M5×0.8

R1/8

R1/4

R3/8

R1/2

TVM-M5

TVM-01

TVM-02

TVM-03

TVM-04

TVM-01-NCU

TVM-02-NCU

TVM-03-NCU

TVM-04-NCU

NCU

TVM

-

-

-

-

-

M5×0.8

R1/8

R1/4

R3/8

R1/2

TVM-M5

TVM-01

TVM-02

TVM-03

TVM-04

TVM-M5-D

TVM-01-D

TVM-02-D

TVM-03-D

TVM-04-D



360

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

M
1.5 1.9N·m

2 2.7N·m

7 9N·m

12 14N·m

22 24N·m

28 30N·m

M5×0.8

M6×1

R1/8

R1/4

R3/8

R1/2

 

 

 

52

TVM

TVM

(

 

,

 

, ,

,

, ,

d
d

c



361

F

FR

R

F R L.

F

F

R

R

R

R

QJ

QJ

TAC

QJ

QJ

QJ

QJ

FR

C R

R

0.1mm 0.15mm

0.2mm

4

6

8

10

12

20

30

50

80

150

mm

1. 

2. 

 

3 · 4 · 6  

 UJ-1

6 · 8 · 10 · 12

 UJ-2




